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Exercise 2 1

1. Which isthe smallest whole number ?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_C0OAm6Gdt8o3


2. The smallest natural number is :

Watch Video Solution

3. Write the successor of 0 in whole numbers.

Watch Video Solution

4. Write the predecessor of 10 in whole

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_atT0WSEMDc5H
https://dl.doubtnut.com/l/_da9u78xVOqmc
https://dl.doubtnut.com/l/_VSAFW4Hq0JzD


5. Largest whole number.

Watch Video Solution

6. Which of the following statements are True

(T) and which are False(F)? 

Zero is the smallest natural number.

Watch Video Solution

https://dl.doubtnut.com/l/_VSAFW4Hq0JzD
https://dl.doubtnut.com/l/_1VQxohJqHgBU
https://dl.doubtnut.com/l/_xWAB5H9tTDZc


7. Which of the following statement true(T)

and which are false (F)?

Zero is the smallest whole number.

Watch Video Solution

8. Which of the following statement true(T)

and which are false (F)?

All whole numbers are natural numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_9sHGk1l2F1XZ
https://dl.doubtnut.com/l/_yvnzWThHSkFG
https://dl.doubtnut.com/l/_uLhRvIdqqGQZ


9. Which of the following statement true(T)

and which are false (F)?

All natural numbers are whole numbers.

Watch Video Solution

10. Which of the following statement true(T)

and which are false (F)?

1 is the smallest whole number

Watch Video Solution

https://dl.doubtnut.com/l/_uLhRvIdqqGQZ
https://dl.doubtnut.com/l/_69XzLitoALeM
https://dl.doubtnut.com/l/_C6514A8dqICM


11. Which of the following statement true(T)

and which are false (F)?

The natural number 1 has no preecessor.

Watch Video Solution

12. Which of the following statements are True

(T) and which are False(F)? 

The whole number 1 has two predecessor in

whole numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_C6514A8dqICM
https://dl.doubtnut.com/l/_cEgWU8uciobc
https://dl.doubtnut.com/l/_jArANSAD4lGX


13. Which of the following statements are True

(T) and which are False(F)? 

Successor of the largest two digit number is

smallest three digit number.

Watch Video Solution

14. Which of the following statements are True

(T) and which are False(F)? 

The successor of a two digit number is always

a two digit number.

Watch Video Solution

https://dl.doubtnut.com/l/_jArANSAD4lGX
https://dl.doubtnut.com/l/_ovfVCd6FE8ri


15. Which of the following statements are True

(T) and which are False(F)? 

300 is the predecessor of 299.

Watch Video Solution

16. Which of the following statements are True

(T) and which are False(F)? 

500 is the successor of 499.

Watch Video Solution

https://dl.doubtnut.com/l/_ovfVCd6FE8ri
https://dl.doubtnut.com/l/_bjICfFcbtmXz
https://dl.doubtnut.com/l/_DFUtMkakcglN


17. Which of the following statement true(T)

and which are false (F)?

The predecessor of a two digit number is

never a single digit numbers.

Watch Video Solution

18. Write the successor of each of the

following: 

100909

https://dl.doubtnut.com/l/_DFUtMkakcglN
https://dl.doubtnut.com/l/_HC19Sl8qb9BU
https://dl.doubtnut.com/l/_bq6R8inGjQOU


Watch Video Solution

19. Write the successor of each of the

following: 

4630999

Watch Video Solution

20. Write the successor of each of the

following: 

830001

Watch Video Solution

https://dl.doubtnut.com/l/_bq6R8inGjQOU
https://dl.doubtnut.com/l/_Djec0TN2xdyb
https://dl.doubtnut.com/l/_35vecy8wQ6wQ


21. Write the successor of each of the

following: 

99999

Watch Video Solution

22. Write the predecessor of each of following:

1000

Watch Video Solution

https://dl.doubtnut.com/l/_35vecy8wQ6wQ
https://dl.doubtnut.com/l/_zsByfzw7WE1N
https://dl.doubtnut.com/l/_IMqdT1PHCtQq
https://dl.doubtnut.com/l/_skZA94PE0KVq


23. Write the predecessor of each of following:

208090

Watch Video Solution

24. Write the predecessor of each of following:

7654321

Watch Video Solution

https://dl.doubtnut.com/l/_skZA94PE0KVq
https://dl.doubtnut.com/l/_UedNICUfjuwm


25. Write the predecessor of each of following:

12576

Watch Video Solution

26. Represent the following numbers on the

number line. 

2,0,3,5,7

Watch Video Solution

https://dl.doubtnut.com/l/_HFMTUiFMYVBb
https://dl.doubtnut.com/l/_MCkj3uHWrHo0


27. How many whole numbers are there

between 22 and 43?

Watch Video Solution

28. Draw a number line to represent each of

following on it. 

Watch Video Solution

3 + 2

https://dl.doubtnut.com/l/_1SfWpvokOkNl
https://dl.doubtnut.com/l/_O1xE4jBzIvGj


29. Draw a number line to represent each of

following on it. 

Watch Video Solution

4 + 5

30. Draw a number line to represent each of

following on it. 

Watch Video Solution

3 + 2

https://dl.doubtnut.com/l/_zXEslTHUWjdC
https://dl.doubtnut.com/l/_baQnsTZ0AJ3Q
https://dl.doubtnut.com/l/_v2axlwJsdWCj


31. Draw a number line to represent each of

following on it. 

Watch Video Solution

8 − 3

32. Draw a number line to represent each of

following on it. 

Watch Video Solution

7 − 4

https://dl.doubtnut.com/l/_v2axlwJsdWCj
https://dl.doubtnut.com/l/_detZPDSAcMUB
https://dl.doubtnut.com/l/_Fv4LMje0lDBN


33. Draw a number line to represent each of

following on it. 

Watch Video Solution

7 − 4

34. Draw a number line to represent each of

following on it. 

Watch Video Solution

3 × 3

https://dl.doubtnut.com/l/_Fv4LMje0lDBN
https://dl.doubtnut.com/l/_jexXRhA2i1f7


35. Draw a number line to represent each of

following on it. 

Watch Video Solution

2 × 5

36. Draw a number line to represent each of

following on it. 

Watch Video Solution

3 × 5

https://dl.doubtnut.com/l/_qo6kMkZkl1CK
https://dl.doubtnut.com/l/_ii8ck2rwRVLy
https://dl.doubtnut.com/l/_w8m41G0dLcIw


37. Draw a number line to represent each of

following on it. 

Watch Video Solution

9 ÷ 5

38. Draw a number line to represent each of

following on it. 

Watch Video Solution

12 ÷ 4

https://dl.doubtnut.com/l/_w8m41G0dLcIw
https://dl.doubtnut.com/l/_2dxF7TTIbVDO
https://dl.doubtnut.com/l/_QOHrV5kDbL5G


39. Draw a number line to represent each of

following on it. 

Watch Video Solution

10 ÷ 2

40. Fill in the blanks with the appropriate

symbol or  


25……………..205

Watch Video Solution

< >

https://dl.doubtnut.com/l/_QOHrV5kDbL5G
https://dl.doubtnut.com/l/_ooOWYBMkdH0J


41. Fill in the blanks with the appropriate

symbol or  


170………….107

Watch Video Solution

< >

42. Fill in the blanks with the appropriate

symbol or  


415…………….514

Watch Video Solution

< >

https://dl.doubtnut.com/l/_KEHvV5r4bvAi
https://dl.doubtnut.com/l/_sRnw7GUuIMoz
https://dl.doubtnut.com/l/_78SExgob7d9B


43. Fill in the blanks with the appropriate

symbol or  


10001…………..9999

Watch Video Solution

< >

44. Fill in the blanks with the appropriate

symbol or  


2300014………….2300041

Watch Video Solution

< >

https://dl.doubtnut.com/l/_78SExgob7d9B
https://dl.doubtnut.com/l/_z0CJjWytLrVt
https://dl.doubtnut.com/l/_ShNqcOEpaVJf
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45. Fill in the blanks with the appropriate

symbol or  


99999……….888888

Watch Video Solution

< >

1. Find the sum by suitable rearrangement.

.

Watch Video Solution

837 + 208 + 363

https://dl.doubtnut.com/l/_ShNqcOEpaVJf
https://dl.doubtnut.com/l/_tuqvef15X2WH
https://dl.doubtnut.com/l/_7SMiKNJTq17V


2. Find the sum by suitable arrangement. 

Watch Video Solution

1962 + 4531538 + 647

3. Find the product by suitable arrangement of

terms: 

Watch Video Solution

2 × 1497 × 50

https://dl.doubtnut.com/l/_7SMiKNJTq17V
https://dl.doubtnut.com/l/_fQxs8Ii6iv8L


4. Find the product by suitable arrangement

of terms: 

Watch Video Solution

4 × 263 × 25

5. Find the product by suitable arrangement of

terms: 

Watch Video Solution

8 × 163 × 125

https://dl.doubtnut.com/l/_jUXj9RCeyamo
https://dl.doubtnut.com/l/_1XE73hmC52xp
https://dl.doubtnut.com/l/_qGZXAbLv5VQU


6. Find the product by suitable arrangement of

terms: 

Watch Video Solution

963 × 16 × 25

7. Find the product by suitable arrangement of

terms: 

Watch Video Solution

5 × 171 × 60

https://dl.doubtnut.com/l/_qGZXAbLv5VQU
https://dl.doubtnut.com/l/_S8e7R4m1M605
https://dl.doubtnut.com/l/_NXXKuFFWAMP9


8. Determine the product by suitable

arrangement:

.

Watch Video Solution

125 × 40 × 16 × 25

9. Find the product by suitable arrangement of

terms: 

Watch Video Solution

30921 × 25 × 40 × 2

https://dl.doubtnut.com/l/_NXXKuFFWAMP9
https://dl.doubtnut.com/l/_ZcRISOjxHggM


10. Find the product by suitable arrangement

of terms: 

Watch Video Solution

4 × 2 × 1932 × 125

11. Find the product by suitable arrangement

of terms: 

Watch Video Solution

5462 × 25 × 4 × 2

https://dl.doubtnut.com/l/_3Fetvna9YGdT
https://dl.doubtnut.com/l/_rM6jqU5uGh6I
https://dl.doubtnut.com/l/_kmosDUUd5zz9


12. Find the value of each of the following

using distributive property: 

Watch Video Solution

(649 × 8) + (649 × 2)

13. Find the value of each of the following

using distributive property: 

Watch Video Solution

(6524 × 69) + (6524 × 31)

https://dl.doubtnut.com/l/_kmosDUUd5zz9
https://dl.doubtnut.com/l/_PdAsyRC5nzO5
https://dl.doubtnut.com/l/_Atll5Bnuvs4M


14. Find the value of each of the following

using associative property: 

Watch Video Solution

(2986 × 35) + (2986 × 65)

15. Find the value of each of the following

using distributive property: 

Watch Video Solution

(6001 × 172) − (6001 × 72)

https://dl.doubtnut.com/l/_Atll5Bnuvs4M
https://dl.doubtnut.com/l/_F3HR1RIRdhhU


16. Find the value of the following : 

Watch Video Solution

493 × 8 + 493 × 2

17. Find the value of the following : 

Watch Video Solution

24579 × 93 + 7 × 24579

https://dl.doubtnut.com/l/_KHdYUV3XzMHG
https://dl.doubtnut.com/l/_pkB6IKbTRy1w


18. Find the value of the following : 

Watch Video Solution

3845 × 5 × 782 + 769 × 25 × 218

19. Find the value of the following : 

Watch Video Solution

3297 × 999 + 3297

https://dl.doubtnut.com/l/_tI3XSYq6x4XD
https://dl.doubtnut.com/l/_Kc5ulewfNnFu


20. Findthe product,using suitable properties.

.

Watch Video Solution

738 × 103

21. Findthe product,using suitable properties.

.

Watch Video Solution

854 × 102

https://dl.doubtnut.com/l/_DZO8RcLzoKhj
https://dl.doubtnut.com/l/_8huX39u1hNHL


22. Findthe product,using suitable properties.

Watch Video Solution

258x1008

23. Find the product using suitable properties:

Watch Video Solution

736 × 93

https://dl.doubtnut.com/l/_4yVsy8Vu4Hcb
https://dl.doubtnut.com/l/_0rNFvQiYVJuA


24. Find the product using suitable properties:

Watch Video Solution

816 × 745

25. Find the product using suitable properties.

Watch Video Solution

1005 × 168

https://dl.doubtnut.com/l/_UJiiBfHKCnws
https://dl.doubtnut.com/l/_5WJdqAZZvjPM


26. A taxi- driver filled his car petrol tank with

40 litres of petrol on Mondy.The next day,he

filled the tank with 50 litres of petrol.If the

petrol costs Rs.44 per litre,how much did he

spend in all on petrol?

Watch Video Solution

27. A vendor supplies 32 litres of milk to a

hotel in the morning and 68 litres of mik in the

https://dl.doubtnut.com/l/_AGepPU3AcuUr
https://dl.doubtnut.com/l/_KcqzGlJwenfQ


evening.If the milk costs Rs.15 Per litre,how

much money is due to the vendor per day?

Watch Video Solution

28. We know that . Is there any other

whole number which when multiplied by itself

gives the product equal to the number itself?

Find out the number.

Watch Video Solution

0 × 0 = 0

https://dl.doubtnut.com/l/_KcqzGlJwenfQ
https://dl.doubtnut.com/l/_cSR80RNWl4rW


29. Fill in the blanks: 

………….

Watch Video Solution

15 × 0 =

30. Fill in the blanks: 

……

Watch Video Solution

15 + 0 =

https://dl.doubtnut.com/l/_z35pjl40INRO
https://dl.doubtnut.com/l/_PGLNftUn9aLK


31. Fill in the blanks: 

……

Watch Video Solution

15 − 0 =

32. Fill in the blanks: 

……

Watch Video Solution

15 ÷ 0 =

https://dl.doubtnut.com/l/_TD403CFzxZQn
https://dl.doubtnut.com/l/_ApE3o5ffRQE3


33. Fill in the blanks: 

……

Watch Video Solution

0 × 15 =

34. Fill in the blanks: 

……

Watch Video Solution

0 + 15 =

https://dl.doubtnut.com/l/_Cr8qe0HD6mGd
https://dl.doubtnut.com/l/_E1jKGPDJOsGt


35. Fill in the blanks: 

……

Watch Video Solution

0 ÷ 15 =

36. Fill in the blanks: 

…………

Watch Video Solution

15 × 1 =

https://dl.doubtnut.com/l/_lYvoTIwW7TgP
https://dl.doubtnut.com/l/_wAzQmr6AVHdq


37. Fill in the blanks: 

…………

Watch Video Solution

15 ÷ 1 =

38. Fill in the blanks: 

…………

Watch Video Solution

1 ÷ 1 =

https://dl.doubtnut.com/l/_iB6aMaS7eOzL
https://dl.doubtnut.com/l/_KGMlrjypng77


39. The product of two whole numbers is zero.

What do you conclude. Explain with example.

Watch Video Solution

40. Match the following: 

(i)  


a. Commutativity under multiplication 

(ii)  


b. commutativity under addition 

537 × 106 = 537 × 100 + 537 × 6

4 × 47 × 25 = 4 × 25 × 47

https://dl.doubtnut.com/l/_UUuyajiQmWri
https://dl.doubtnut.com/l/_76W24Wl7L5ZF
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(ii) 


c. Distributivity of multiplication over addition.

Watch Video Solution

70 + 1923 + 30 = 70 + 30 + 1923

1. If the producto of two whole numbers is

zero can we say thatone or both of them will

be zero ?Justify through examples.

Watch Video Solution

https://dl.doubtnut.com/l/_76W24Wl7L5ZF
https://dl.doubtnut.com/l/_z8MW0gAYlyOy
https://dl.doubtnut.com/l/_5PqeLrY9pc65


2. If the product of two whole numbers is 1,can

we say that one or oth of them will be 1 ?

Justify through examples.

Watch Video Solution

3. Observe the pattern in the following and fill

in the blanks:

 


 


 


1 × 1 = 1

11 × 11 = 121

111 × 111 = 12321

https://dl.doubtnut.com/l/_5PqeLrY9pc65
https://dl.doubtnut.com/l/_DpSU1Fuj85Xm


 


……………..

Watch Video Solution

1111 × 1111 = ………………….

11111 × 11111 =

4. Observe the pattern and fill in the blanks: 

 


 


 


 


……..


…………..

1 × 9 + 1 = 10

12 × 9 = 2 = 110

123 × 9 + 3 = 1110

1234 × 9 + 4 = 1110

12345 × 9 + 5 =

123456 × 9 + 6 =

https://dl.doubtnut.com/l/_DpSU1Fuj85Xm
https://dl.doubtnut.com/l/_MJDaXtAmlbWw


Watch Video Solution

5. Find the least number which must be

subtracted from each of the following

numbers so as to get a perfect square. Also

find the square root of the perfect square so

obtained: 1989

Watch Video Solution

6. Study the following pattern: 

 
1 = 1 × 1 = 1

https://dl.doubtnut.com/l/_MJDaXtAmlbWw
https://dl.doubtnut.com/l/_dMfGwuPqXrej
https://dl.doubtnut.com/l/_ZqPHj6HEQC9i


Multiple Choice Questions

 


 





Hence find the sum of 

a. First 12 odd numbers b. First 50 odd

numbers.

Watch Video Solution

1 + 3 = 2 × 2 = 4

1 + 3 + 5 = 3 × 3 = 9

1 + 3 + 5 + 7 = 4 × 4 = 16

1. The smallest whole number is :

https://dl.doubtnut.com/l/_ZqPHj6HEQC9i
https://dl.doubtnut.com/l/_wUCMxc6PZzbs


A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

2. The smallest natural number is :

A. 0

https://dl.doubtnut.com/l/_wUCMxc6PZzbs
https://dl.doubtnut.com/l/_Yomm0B3CY9eW


B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

3. The successor of 38899 is

A. 39000

B. 38900

https://dl.doubtnut.com/l/_Yomm0B3CY9eW
https://dl.doubtnut.com/l/_ZVBWboqxyEbn


C. 39900

D. 38800

Answer: B

Watch Video Solution

4. The predecssor of 24100 is

A. 24999

B. 24009

C. 24099

https://dl.doubtnut.com/l/_ZVBWboqxyEbn
https://dl.doubtnut.com/l/_fM6LTEF5lhhY


D. 24099

Answer: D

Watch Video Solution

5. The statement  represents

A. Closure

B. Associative

C. Commutative property

D. Identity

4 + 3 = 3 + 4

https://dl.doubtnut.com/l/_fM6LTEF5lhhY
https://dl.doubtnut.com/l/_dKUtROcYHYj8


Answer: C

Watch Video Solution

6. Which of the following is the additive

identity?

A. 0

B. 1

C. 2

D. 3

https://dl.doubtnut.com/l/_dKUtROcYHYj8
https://dl.doubtnut.com/l/_8aWgy21YNs8t


Answer: A

Watch Video Solution

7. The multiplicative identilfy is ……….

A. 0

B. 1

C. 2

D. 3

Answer: B

https://dl.doubtnut.com/l/_8aWgy21YNs8t
https://dl.doubtnut.com/l/_IU8kRoT8dYN4


Watch Video Solution

8. 

A. 1400

B. 1600

C. 1700

D. 1500

Answer: D

Watch Video Solution

15 × 32 + 15 × 68 =

https://dl.doubtnut.com/l/_IU8kRoT8dYN4
https://dl.doubtnut.com/l/_pRvzgYNXNehr


9. The largest 4 digit number divisible by 13 is:

A. 9997

B. 9999

C. 9995

D. 9991

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pRvzgYNXNehr
https://dl.doubtnut.com/l/_Dl7LYb6IKETR


10. The successor is 3 digit largest number is

A. 100

B. 998

C. 1001

D. 1000

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CQ0F1swjhZTx

